Counting Declarer’s Tricks - II
IV. Partner’s Signals and Discards
Trick counting can be facilitated by watching partner’s carding and discarding closely.

North (Dummy)


East wins the ♠Q - ♠A, and notices partner’s ♠2




♠ J 4 3




on the 2nd round. Assuming 4th best leads, East





♥ A J 8




reasons that West started with either 2 or 5




♦ 7 6




spades.  West almost certainly has 5 spades, or

West


♣ A K J T 8

East

else South is 5-6 in the majors. East then realizes 

♠ T 8 7 5 2




♠ A K Q
that the declarer has 10 tricks easily unless the 

♥ 4





♥ 3 2

defense can take 2 diamond tricks quickly. (There 
♦ Q 8 5 3 2




♦ A 9 4

is little or no chance for a heart trick). If partner
♣ Q 6


South


♣ 9 7 4 3 2
has the ♦K, there is no problem, but what if he   





♠ 9 6




holds the ♦Q? If East is a solid defender, he shifts




♥ K Q T 9 7 6 5


to a low diamond at trick 3.  South is apt to finesse




♦ K J T




the ♦J, resulting in a 1 trick set after West wins the 




♣ 5




♦Q and returns the suit to partner’s ♦A
The key to the defense was East’s knowing that only two tricks were cashable. Had West played a higher spade at trick two, East would have simply cashed 3 spades and a diamond, secure in the knowledge that West started with only 3 or 4 spades. Note that underleading the ♦A cannot cost any more than an overtrick. If South guesses to play the ♦K (or has the singleton ♦K, or a holding like ♦Kxx), the contract was unbeatable. Another key defensive signal:









South wins the 1st diamond with the ♦K. (At no 

North (Dummy)


trump, it is far more deceptive for declarer, when




♠ 7 5




holding A-K of a suit to win with the King, parti-





♥ A K Q



cularly when he has a tenuous stopper in another 




♦ 9 4




suit. If declarer wins the Ace, it arouses suspicions

West


♣ Q J T 9 6 4

East

since he would probably hold up if his only stop

♠ K T 8 2




♠ A J 6 3
were the Ace). At trick 2, South crosses to a high

♥ 5 2





♥ T 9 8 7
heart and takes a losing club finesse. (East’s count
♦ Q 8 7 5 3




♦ J 6 2

card makes it clear there is no point in ducking). 
♣ K 2


South


♣ 7 5

West now knows declarer has at least 10 tricks 




♠ Q 9 4



ready to run. (He knows the diamond position 




♥ J 6 4 3



from partner’s play of the ♦J at trick 1, so he can




♦ A K T



count no fewer than 3 hearts, 5 clubs, and 2




♣ A 8 3



diamonds for South).
Obviously, West must shift to a spade and hope that somehow there are 4 defensive tricks in that suit. So West shifts to the ♠2. East wins and returns… a DIAMOND?  Declarer takes 11 tricks. What went wrong?

It looks like East made a terrible mistake, but what if West had started with ♦ A T 7 5 3 and no King of Spades? In that case, East must return a diamond to defeat the contract. How does East know whether to return partner’s original suit, or continue the 2nd suit? Fortunately, there is a simple answer. 

When partner shifts to a LOW card in a new suit, (Low from strength), he wants THAT suit returned. When partner shifts to a HIGH card in suit (High from weakness), he wants his FIRST suit returned. 
Had West started with ♦ A T 7 5 3 and ♠ Q 8 4 2 (or ♠ T 8 4 2), he would shift to the ♠8, signaling no interest in that suit. The theory behind this is similar to the strategy discussed in the lesson on Leads vs. No Trump. It was suggested that holding something like ♠AQJ9  ♥T873  ♦953  ♣76 and leading against the auction: 1NT – 3NT, that the best lead was likely the ♥8. This tells partner that you are weak in the suit you are leading and have little or no interest in having that suit returned. Often, you will have a stronger suit (usually only a four card suit), that you were reluctant to lead originally for fear of giving up an unnecessary trick. 
It should be noted that it is generally easier to count declarer’s tricks at no trump than it is to do so at a suit contract because of the ruffing possibilities. None the less, it has to be done. Here are some tips about counting tricks at suit contract – tricks concerning the trump suit itself. 
Dummy


South is entitled to five spade tricks if he draws trumps. If the defenders
West

  ♠ 4 3 2
East

make him ruff in the long hand, (South hand), he gains nothing because
♠T 6
  


♠ J 7 5

he would have made his small trumps anyway. However, if South can 



South



manage to ruff anything in the short hand, (dummy), before drawing


♠ A K Q 9 8


trumps, he makes extra tricks. Therefore:

Defenders are concerned with preventing declarer from ruffing in the SHORT hand. Making declarer ruff in the LONG hand is usually a good defensive play, particularly when one defender has four trumps.

Trump leads are very effective if the defenders are trying to prevent ruffs in the short hand. Trump leads are also effective when declarer is planning a cross-ruff. 

Dummy


If declarer has a short suit in dummy and another one in his hand he can
West

♠ A Q T 9
East

conceivably take eight trump tricks if he can ruff 4 times in the same 
♠6 5
  


♠ 4 3 2

hand. The moment the defenders lead a trump, they cut down declarer’s



South



trump trick potential to seven. Two trump leads bring it down to six, and



♠ K J 8 7
 

3 trump leads can reduce it to five. 
Also, when declarer plans to establish a long suit in dummy, and the only entry is in the trump suit, he cannot both ruff in dummy and simultaneously establish dummy’s long suit. Observe: 









 

North (Dummy)

Assuming the opening lead of the ♦K is ducked and West




♠ A T 5


continues with the ♦Q, South wins the ♦A but goes down 





♥ A K 7 6 5


if he ruffs a diamond in dummy!  Once a diamond is 




♦ J 4



ruffed, declarer can kiss the heart suit goodbye. To make 

West


♣ 6 3 2

East

the hand, he must instead play ♥A, ♥K, and ruff a heart. 

♠ 7 6 2




♠ 4 3

Once that suit breaks favorably, he plays three rounds of 

♥ 9 8 4




♥ Q J T
trumps ending in dummy, then uses the established hearts 
♦ K Q 3



♦ T 9 8 7 6
for discards.  If hearts don’t break 3-3, declarer will have
♣ A 9 8 7

South

♣ Q J T
to fall back on the club finesse, but finesses are usually




♠ K Q J 9 8


best left as the last option, not the first. Defenders also 




♥ 3 2



need to be aware that the way to kill a long suit in the 



♦ A 5 2



dummy if to remove the entry. If the entry is in the trump



♣ K 5 4


suit, forcing the dummy to ruff will be the winning line.
In order to understand how to foil declarer, you need to be able to recognize his plan. In the above example, declarer was able to make the hand because he held the ♦A and was able to keep the defenders from forcing the dummy. In the real world, had East held the ♦AT987, most West’s would have switched to another suit at trick 3, allowing South to prevail. East (holding the heart guard) can see that continuing the diamond suit is the winning defense, and should overtake the ♦Q at trick two to continue the suit. Defenders who are aware of the dummy-forcing principle would defeat the following hand, but you could count them on the thumbs of your left foot.









Most defenders would cash two spades and shift 

North (Dummy)


to the King of Hearts. Declarer would win, cash




♠ 6 3




one high trump, then the ♦A, ♦K, and ruff a dia-




♥ 7 2




mond high. Finally, two more trumps ending in 




♦ A K 8 5 4 3



dummy, and the established diamonds would 

West


♣ A T 4

East

provide a parking place for declarer’s losing spade

♠ A K Q 7 2




♠ T 9 8

and heart. How should the defense have gone?

♥ K Q T




♥ J 9 8 5 4 3

♦ Q 9





♦ J T 2

The hand can be defeated if West plays three  
♣ 7 6 5


South


♣ 3

rounds of spades! Dummy must ruff and the late



♠ J 5 4 




entry to those delicious diamonds disappears. 




♥ A 6




Declarer ends up with a losing heart that he can’t




♦ 7 6




shed. Knowing how declarer uses dummy’s side 




♣ K Q J 9 8 2



suit length is important for 2 obvious reasons:
(1) If dummy’s entry can be removed prematurely (i.e. force declarer to ruff in dummy), the threat of the long suit can be neutralized.

(2) If either defender has more trumps than dummy, it is obvious that declarer can not draw trumps ending in dummy. In such cases, trump leads are safe – (providing the long suit needs ruffing establishment and is not already good).

A final example of counting tricks and how it can make the critical difference:









East jumps at the opportunity to make a lead 
directing double of North’s 4♠ cue-bid. With any other lead, South will make his contract easily, 





winning 5 diamonds, 4 hearts, 1 spade, 1 club, and
North (Dummy)






one club ruff. Even if he misguesses clubs,  










South will be able to come to 12 tricks by ruffing






two clubs in dummy before drawing trump.




♠ A 3 2








♥ A T 9 4



The spade lead makes the contract far more





♦ A Q J T 6



difficult, as now the spade discards must be taken

West


♣ T


East

before a club can be lost

♠ J 5 4





♠ K Q 9 7
 

♥ 6 3 2





♥ 8 7

After the spade lead, dummy wins the Ace, and 3
♦ 8 7 5





♦ 9 3 2

rounds of trumps are drawn. At this point, East
♣ Q 9 7 2

South


♣ A 6 5 3
knows that South cannot take more than 5 trump 

♠ T 8 6




tricks (the 3 he has already taken, plus 1 more in

 



♥ K Q J 5



each hand). South pitches 2 spades and a club on




♦ K 4




dummy’s 3 extra diamond winners. Finally the 

♣ K J 8 4



singleton club is led from the dummy.
Hopefully, East hasn’t been sleeping this whole time. Assuming East has counted declarer’s tricks, he knows that declarer has 5 hearts, 5 diamonds, and a spade. If declarer has the King of Clubs, the contract is unbeatable, but East knows something that South does not – specifically the location of the Ace of Clubs. If South has some club holding such as ♣K874, he will be forced to play the King and make his slam. However, it just might be possible that South has a choice of club plays such as in the diagram.
East should realize that if West holds the ♣K, the slam will always fail, and if South holds it, that the only hope for the defense is that South has a guess and goes wrong. On the actual hand, if South misguesses and ducks the Ten of Clubs, (likely if East plays low smoothly), the hand will be beaten. If East panics and jumps up with the Ace of Clubs (never right), the hand is made. Counting tricks is the answer. 









West leads his partner’s suit and dummy plays the 

North (Dummy)


♠3. If East is playing on autopilot, he will put in 




♠ Q 3




the ♠9. This is unfortunately, the correct way to 




♥ 6 5




play the spade suit, but the incorrect way to defend




♦ A Q 4



the hand. If East takes a moment to study the lead

West


♣ A K Q T 8 6

East

and dummy, he will realize that South most cer-

♠ 7 6





♠ A J T 9 2
tainly has the ♠K. Furthermore, declarer has 6 

♥ K J 9 4




♥ A 7 3
clubs and at least 2 diamonds ready to go. Add 1
♦ T 9 7 6 2




♦ 8 5

spade to that total and it becomes clear that there
♣ J 4


South


♣ 7 3 2

is no way to beat the hand unless West has good 



♠ K 8 5 4 



hearts.  Thus, East switches to a low heart won by




♥ Q T 8 2



partner’s ♥9 (or ♥J) West returns the ♥4 to East’s 




♦ K J 3




♥A, and West’s last heart through declarer’s 




♣ 9 5




♥Q-T nets 5 tricks for the defenders. 









West leads the ♠J and East can see that declarer 

North (Dummy)


 has 2 tricks in that suit. He can also be reasonably




♠ 7 6




 certain that declarer will take 4 diamond tricks 




♥ 4 3 2




 at least 3 clubs. With that in mind, the only hope




♦ K Q J 9 8



 for the defense is going to lie with the heart suit.

West


♣ A K T

East

 East’s first play is to signal with the ♠2 (♠5) to 

♠ J T 9 8 3




♠ Q 5 2
 help partner count the suit. Upon gaining the lead

♥ A Q 9 8




♥ J T 6

 with the ♦A, East switches to the ♥J. If South 
♦ T 3





♦ A 6 2
 
 covers, West cashes the ♥Q & East must unblock
♣ 7 6


South


♣ 9 8 5 2
 the ♥10. West can’t be certain whether East holds 




♠ A K 4 



 ♥JT doubleton or ♥JTx, but must be confident 




♥ K 7 5



 that West holds the ♥10 and is alert enough to

♦ 7 5 4




 unblock it. With a weaker holding such as ♥AQ85 





♣ Q J 4 3



 West would have to lead back a low heart. 









 

North (Dummy)


This hand seems very similar to the previous one, 




♠ 7 6 4




with a very major difference. This time, East’s




♥ 4 3 




upgraded diamond holding tells him that South





♦ K Q J 9 8



can only take 2 quick tricks in that suit. To 

West


♣ A Q T

East

develop a 3rd diamond trick, declarer would have 

♠ J T 9 8 3




♠ Q 5 2
to give up the lead twice. 


♥ A 9 7 5




♥ J T 6

  
♦ 7





♦ A T 6 2
Consequently, East counts 2 spades, 2 diamonds

♣ 6 5 2


South


♣ 9 8 7

and at least 3 clubs for declarer. South will need




♠ A K
 



either two hearts or a heart and a 4th club to make




♥ K Q 8 2



this hand. East must be careful not to establish the
♦ 5 4 3




game-going trick(s) for declarer. This time, East




♣ K J 4 3



wins the ♦A and reverts back to spades, carefully









unblocking the ♠Q. Declarer is unable to come to
nine tricks without a heart, and West is able to get in and cash out his spade winners.  These two hands illustrate the importance of counting the tricks that declarer is known to have coming. They also demonstrate how valuable a lead convention such as “Jack shows top of a sequence and nothing higher” can be to the defenders to be able to count tricks in a suit. In the first example, East had to switch to a heart. In the 2nd example, although the hand was nearly identical, East had to continue spades.  The subtle difference between the two hands becomes obvious if the defenders take the time to count declarer’s tricks. 
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